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GUIA DE ESTUDIO EXAMEN EXTRAORDINARIO INGLES V

TEMAS:

ORACIONES EN PASADO SIMPLE
VERBOS EN PASADO PARTICIPIO
PASADO CONTINUO

VERBO USED TO

VERBOS MODALES

VOZ PASIVA EN PRESENTE

VOZ PASIVA EN PASADO

THERE IS, THERE ARE

FUTURO WILL, GOING
PREPOSICIONES DE LUGAR
PRIMER CONDICIONAL
SEGUNDO CONDICIONAL

EJEMPLOS :
Marie Curie, the famous scientist, was born in 1867 and in 1934.
a) died b) discovered c) lived

UNA FORMA DE DECIR QUE EXISTEN CIERTOS OBJETOS ES: “THERE IS” PARA SINGULARY
“THERE ARE” PARA PLURAL.

In our new flat two doors in the dinning room.
a) thereis b) there are c) are there
In the avenue only a bus.

a) thereis b) there are c) are there



LOS VERBOS MODALES SON : CAN, COULD, MUST, SHALL, SHOULD, WOULD, HAVE TO, MAY y MIGHT ;
LEER LA GRAMATICA EN TU LIBRO.

He eat hamburgers. Let’s go!
a) haveto b) would c) must

I swim for twenty minutes.
a) should b) can’t c) could

EL PRIMER CONDICIONAL HABLA DE UN HECHO REAL POSIBLE QUE NO EXISTE, SE FORMA LA PRIMERA ORACION
CON “IF” MAS EL VERBO EN PRESENTE SIMPLE LA CONDICION; Y SE COMPLEMENTA EN LA SEGUNDA CON” WILL”
MAS EL VERBO EN INFINITIVO EL RESULTADO.

| don’t pay attention in class, | will fail my tests.
a) with b) If c) by

PODEMOS CAMBIAR EL ORDEN DE LA ORACION SIN ALTERAR EL SIGNIFICADO.

| will fail my tests, | don’t pay attention in class
a) with b) If c) by

EL SEGUNDO CONDICIONAL HABLA DE UN HECHO IRREAL O QUE NO EXISTE, SE FORMA LA PRIMERA ORACION
CON “IF” MAS EL VERBO EN PASADO SIMPLE LA CONDICION; Y SE COMPLEMENTA EN LA SEGUNDA CON
”WOULD” MAS EL VERBO EN INFINITIVO EL RESULTADO.

If she spoke Mandarin, she move to China.
a) have to b) would ¢) must

If 1 had a bicycle, | ride it everywhere.
a) haveto b) would c) must

CHOOSE TO COMPLETE :

Thank you, Mr. ; | a glass of water.

a) haveto b) would like c) want

I maybe take you to the park tomorrow.
a) will b) is goingto c) am going to

The sun is shining. It be a hot day.
a) will b) is goingto c) are going to



THE PASSIVE VOICE, LA VOZ PASIVA PROVIENE DE UNA VOZ ACTIVA CAMBIANDO LOS SUSTANTIVOS.
ESTA PUEDE SER EN PRESENTE O PASADO:

She opens the store. The store is opened by her.

He bought five oranges. Five oranges were bought by him.

When the painting , it was framed.
a) were finishing b) was finished c) was finish

It on the table.
a) was left b) was leaving c) were leave




